QUESTION FROM LAST WEEK:

In
$$(\lambda I - A) = 0$$
Why don't we just do
 $(\lambda I - A) = 0$ and solve
 $\int \alpha \lambda \text{ instead of}$
 $\det(AI - A) = 0$

MNSWER
$$(2x2) \quad (\lambda \circ) - (ab) \neq$$

$$= (00)$$

$$= (00)$$

$$Mless \quad b = c = 0$$

$$\lambda - a = 0 \implies \lambda = q$$

$$b - b = 0 \implies b = s$$

$$\lambda = \frac{3 \pm \sqrt{9 - 4 \cdot 11 \cdot 1}}{2} = \frac{3 + \sqrt{5}}{2}$$

$$\lambda_{1} = \frac{3 + \sqrt{5}}{2}$$

$$\lambda_{2} = \frac{3 - \sqrt{5}}{2}$$

$$\frac{\text{Ex}}{\text{A}} = \begin{pmatrix} 1 & 2 & 0 \\ 0 & 3 & 1 & 8 \end{pmatrix}$$

$$\frac{\text{A}}{\text{A}} = \begin{pmatrix} 1 & 2 & 0 \\ 0 & 3 & 1 & 8 \end{pmatrix} = 0$$

$$\frac{\text{A}}{\text{A}} = \begin{pmatrix} 1 & 2 & 0 \\ 0 & 3 & 1 & 8 \end{pmatrix} = 0$$

$$\frac{\text{A}}{\text{A}} = \begin{pmatrix} 1 & 2 & 0 \\ 0 & 3 & 1 & 8 \end{pmatrix} = 0$$

$$= \begin{vmatrix} \lambda - 1 & -2 & 0 \\ 6 & (\lambda - 4) & 0 \end{vmatrix} =$$

$$= (\lambda - 8)(-1)^{3+3} \begin{vmatrix} \lambda - \lambda - 2 \\ 0 & \lambda - 4 \end{vmatrix}$$

$$= (\lambda - 8)(\lambda - 1)(\lambda - 4) = 0$$

$$(\lambda - 8)(\lambda - 1)(\lambda - 4) = 0$$

$$\lambda_{1} = 8, \lambda_{2} = 1$$

$$\lambda_{3} = 4$$

$$= \begin{vmatrix} \lambda - 1 & 0 & 0 & 0 \\ 0 & \lambda - 1 & 0 & 0 \\ 0 & 0 & \lambda - 3 & 0 \end{vmatrix} =$$

$$= (\lambda - 1)(\lambda - 2)(\lambda - 3)(\lambda - 4) = 0$$

$$= (\lambda - 1)(\lambda - 2)(\lambda - 3)(\lambda - 4) = 0$$

$$= \lambda_1 = \lambda_1 \lambda_2 = 2 / \lambda_3 = 3$$

$$= \lambda_4 = 4$$

$$\begin{array}{l}
EX : \\
A = \begin{pmatrix}
A & 5 & 2\pi & A \\
6 & 2 & 5 & 10
\end{pmatrix}$$

$$\begin{array}{l}
def (\lambda I - A) = \begin{pmatrix}
\lambda - \lambda & \pi 2\pi & A \\
0 & \lambda - 2 - 5 - 10
\end{pmatrix}$$

$$\begin{array}{l}
0 & \lambda - 3 & 10^{3} \\
0 & 0 & \lambda - 3 & 10^{3}
\end{pmatrix}$$

$$\begin{array}{l}
- (\lambda - A)(\lambda - 2\lambda)(\lambda - 3)(\lambda - 4) = 0 \\
\lambda_{1} = 1, \lambda_{2} = 2
\end{array}$$

$$\begin{array}{l}
- F & \lambda + \lambda_{1} \cos \lambda - 2 \\
- \lambda_{2} = 3, \lambda_{4} = 4
\end{array}$$

$$\begin{array}{l}
- \lambda_{1} = 4 \\
- \lambda_{2} = 3, \lambda_{4} = 4
\end{array}$$

$$\begin{array}{l}
- \lambda_{1} = 4 \\
- \lambda_{2} = 3, \lambda_{4} = 4
\end{array}$$

$$\begin{array}{l}
- \lambda_{1} = 4 \\
- \lambda_{2} = 3, \lambda_{4} = 4
\end{array}$$

LINEAR CUMBINATION & BASE

$$\vec{v} = \begin{pmatrix} q \\ b \end{pmatrix}, \quad \vec{v} = a \begin{pmatrix} 1 \\ 0 \end{pmatrix} + b \begin{pmatrix} 0 \\ 1 \end{pmatrix}$$

- · We say is a linear of Prombination of Prombination of Prombination.
- o P, P2 are a base.
- · P, & P2 are linearly independent (they cannot be generated from each other)

Ex. [Find eigenvectors and socres of eigenspour]
$$A = \begin{pmatrix} 1 & 1 \\ 3 - 1 \end{pmatrix}$$

$$Eigensphes:$$

$$det(\Lambda I - A) = \begin{vmatrix} 1 - 1 & 1 \\ -3 & 1 + 1 \end{vmatrix} =$$

$$= (\Lambda - 1)(\Lambda + 1) - 3 = 0$$

$$\Rightarrow \lambda^2 + \lambda + \lambda + 1 - 3 = 0$$

$$\lambda^2 - 4 = 0 \Rightarrow \lambda^2 = 1$$

Eigenvector
$$\int_{0}^{1} \lambda_{1} = 2 : \left[(\lambda_{1} I - A) \overrightarrow{\lambda} = 0 \right]$$

$$\left[2 \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix} - \begin{pmatrix} 1 & A \\ 3 - A \end{pmatrix} \right] \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\left(-3 & 3 \right) \begin{pmatrix} x \\ y \end{pmatrix}$$

Let
$$y=t$$
 when $t=is$ and all normber. So,

$$x=y=t=3$$

$$(x)=(t)=t(1)$$
The family of solutions is the eigenspace base ton the eigenspace of $\lambda_1=2$

Eigenvectors for
$$\lambda_1 = -2$$
:
$$\begin{bmatrix} -2(10) - (11) \\ (3-1) \end{bmatrix} \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} -3 - 1 \\ -3 - 1 \end{pmatrix} \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix}$$

Ser
$$x = -\frac{1}{3}t$$
 Rightspace

$$\Rightarrow \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} -\frac{1}{3}t \\ t \end{pmatrix} = t$$

$$= t \begin{pmatrix} -\frac{1}{3} \\ t \end{pmatrix}$$
Rease

$$\begin{array}{c}
EX : \\
A = \begin{pmatrix} 0 & 0 & -2 \\ 1 & 2 & 1 \\ 1 & 0 & 3 \end{pmatrix}
\end{array}$$

$$\begin{array}{c}
A = \begin{pmatrix} 0 & 0 & -2 \\ 1 & 2 & 1 \\ 1 & -1 & 1 & -2 \\ -1 & 0 & 1 & -3 \end{pmatrix} = \\
= (\lambda - 2) \left[\lambda \begin{pmatrix} 2 \\ -1 & k - 3 \end{pmatrix} = \\
= (\lambda - 2) \left[\lambda (\lambda - 3) + 2 \right] = 0
\end{array}$$

$$\lambda^{2} - 3\lambda + 2 = 0$$

$$\lambda = \frac{3 \pm \sqrt{9 - 4 \cdot 12}}{2}$$

$$- \frac{\lambda}{2} = 2$$

$$- \frac{\lambda}{3} = 1$$

$$\pm igenvectors for $\lambda_{3} = \lambda_{2} = 2$

$$\left[2\left(\frac{1}{0} \times 0\right) - \left(\frac{0}{1} \times 0\right) - \left(\frac{\lambda}{1} \times 0\right)\right] \left(\frac{\lambda}{3} + \frac{\delta}{6}\right)$$

$$\left[2\left(\frac{1}{0} \times 0\right) - \left(\frac{0}{1} \times 0\right)\right] \left(\frac{\lambda}{3} + \frac{\delta}{6}\right)$$$$

$$\frac{\text{Ex}: \left[A \text{ invertible } \Leftarrow\right)}{\text{A} = \left(\begin{array}{c} a & 0 & 0 \\ 0 & 0 & 0 \end{array} \right)} \xrightarrow{\text{not an eigenvalue}}$$

$$A = \left(\begin{array}{c} a & 0 & 0 \\ 0 & 0 & 0 \end{array} \right) \xrightarrow{\text{o}} \xrightarrow{\text{o}} \left[\begin{array}{c} \lambda - a \\ 0 & \lambda - b \end{array} \right] = \left(\begin{array}{c} \lambda - a \\ \lambda - a \end{array} \right) \left(\begin{array}{c} \lambda - b \\ \lambda - c \end{array} \right) = 0$$

$$= \left(\begin{array}{c} \lambda - a \\ \lambda - a \end{array} \right) \left(\begin{array}{c} \lambda - b \\ \lambda - c \end{array} \right) = 0$$

$$= \left(\begin{array}{c} \lambda - a \\ \lambda - a \end{array} \right) \left(\begin{array}{c} \lambda - b \\ \lambda - c \end{array} \right) = 0$$

$$= \left(\begin{array}{c} \lambda - a \\ \lambda - a \end{array} \right) \left(\begin{array}{c} \lambda - b \\ \lambda - c \end{array} \right) = 0$$

$$= \left(\begin{array}{c} \lambda - a \\ \lambda - a \end{array} \right) \left(\begin{array}{c} \lambda - b \\ \lambda - c \end{array} \right) = 0$$

$$= \left(\begin{array}{c} \lambda - a \\ \lambda - a \end{array} \right) \left(\begin{array}{c} \lambda - b \\ \lambda - c \end{array} \right) = 0$$

$$= \left(\begin{array}{c} \lambda - a \\ \lambda - a \end{array} \right) \left(\begin{array}{c} \lambda - b \\ \lambda - c \end{array} \right) = 0$$

$$= \left(\begin{array}{c} \lambda - a \\ \lambda - a \end{array} \right) \left(\begin{array}{c} \lambda - b \\ \lambda - c \end{array} \right) = 0$$

$$= \left(\begin{array}{c} \lambda - a \\ \lambda - a \end{array} \right) \left(\begin{array}{c} \lambda - b \\ \lambda - c \end{array} \right) = 0$$

$$= \left(\begin{array}{c} \lambda - a \\ \lambda - a \end{array} \right) \left(\begin{array}{c} \lambda - b \\ \lambda - c \end{array} \right) = 0$$

$$= \left(\begin{array}{c} \lambda - a \\ \lambda - a \end{array} \right) \left(\begin{array}{c} \lambda - b \\ \lambda - c \end{array} \right) = 0$$

$$= \left(\begin{array}{c} \lambda - a \\ \lambda - a \end{array} \right) \left(\begin{array}{c} \lambda - b \\ \lambda - c \end{array} \right) = 0$$

$$= \left(\begin{array}{c} \lambda - a \\ \lambda - a \end{array} \right) \left(\begin{array}{c} \lambda - b \\ \lambda - c \end{array} \right) = 0$$

$$= \left(\begin{array}{c} \lambda - a \\ \lambda - a \end{array} \right) \left(\begin{array}{c} \lambda - b \\ \lambda - c \end{array} \right) = 0$$

$$= \left(\begin{array}{c} \lambda - a \\ \lambda - a \end{array} \right) \left(\begin{array}{c} \lambda - c \\ \lambda - c \end{array} \right) = 0$$

$$= \left(\begin{array}{c} \lambda - a \\ \lambda - a \end{array} \right) \left(\begin{array}{c} \lambda - c \\ \lambda - c \end{array} \right) = 0$$

$$= \left(\begin{array}{c} \lambda - a \\ \lambda - c \end{array} \right) \left(\begin{array}{c} \lambda - c \\ \lambda - c \end{array} \right) = 0$$

$$= \left(\begin{array}{c} \lambda - a \\ \lambda - c \end{array} \right) \left(\begin{array}{c} \lambda - c \\ \lambda - c \end{array} \right) = 0$$

$$= \left(\begin{array}{c} \lambda - a \\ \lambda - c \end{array} \right) \left(\begin{array}{c} \lambda - c \\ \lambda - c \end{array} \right) = 0$$

$$= \left(\begin{array}{c} \lambda - a \\ \lambda - c \end{array} \right) \left(\begin{array}{c} \lambda - c \\ \lambda - c \end{array} \right) = 0$$

$$= \left(\begin{array}{c} \lambda - a \\ \lambda - c \end{array} \right) \left(\begin{array}{c} \lambda - c \\ \lambda - c \end{array} \right) = 0$$

$$= \left(\begin{array}{c} \lambda - a \\ \lambda - c \end{array} \right) \left(\begin{array}{c} \lambda - c \\ \lambda - c \end{array} \right) = 0$$

$$= \left(\begin{array}{c} \lambda - a \\ \lambda - c \end{array} \right) \left(\begin{array}{c} \lambda - c \\ \lambda - c \end{array} \right) = 0$$

$$= \left(\begin{array}{c} \lambda - a \\ \lambda - c \end{array} \right) \left(\begin{array}{c} \lambda - c \\ \lambda - c \end{array} \right) = 0$$

$$= \left(\begin{array}{c} \lambda - a \\ \lambda - c \end{array} \right) \left(\begin{array}{c} \lambda - c \\ \lambda - c \end{array} \right) = 0$$

$$= \left(\begin{array}{c} \lambda - a \\ \lambda - c \end{array} \right) \left(\begin{array}{c} \lambda - c \\ \lambda - c \end{array} \right) = 0$$

$$= \left(\begin{array}{c} \lambda - a \\ \lambda - c \end{array} \right) \left(\begin{array}{c} \lambda - c \\ \lambda - c \end{array} \right) = 0$$

$$= \left(\begin{array}{c} \lambda - a \\ \lambda - c \end{array} \right) \left(\begin{array}{c} \lambda - c \\ \lambda - c \end{array} \right) = 0$$

$$= \left(\begin{array}{c} \lambda - a \\ \lambda - c \end{array} \right) \left(\begin{array}{c} \lambda - c \\ \lambda - c \end{array} \right) = 0$$

$$= \left(\begin{array}{c} \lambda - a \\ \lambda - c \end{array} \right) \left(\begin{array}{c} \lambda - c \\ \lambda - c \end{array} \right) =$$

Show that
$$det(A) = det(PAP)$$
 $B = P^{1}AP$
 $det(B) = det(P^{1}AP) = det(D)$
 $det(B) = det(P^{1}AP) = det(P$

$$\lambda_{2} = i \xrightarrow{S_{2}} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\lambda_{3} = 3 \xrightarrow{S_{3}} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\lambda_{4} = 4 \xrightarrow{S_{3}} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\lambda_{5} = 4 \xrightarrow{S_{3}} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\lambda_{7} = 4 \xrightarrow{S_{3}} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\lambda_{7} = 4 \xrightarrow{S_{3}} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\lambda_{7} = 4 \xrightarrow{S_{3}} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\lambda_{7} = 4 \xrightarrow{S_{3}} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\lambda_{7} = 4 \xrightarrow{S_{3}} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\lambda_{7} = 4 \xrightarrow{S_{3}} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\lambda_{7} = 4 \xrightarrow{S_{3}} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\lambda_{7} = 4 \xrightarrow{S_{3}} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\lambda_{7} = 4 \xrightarrow{S_{3}} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\lambda_{7} = 4 \xrightarrow{S_{3}} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\lambda_{7} = 4 \xrightarrow{S_{3}} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\lambda_{7} = 4 \xrightarrow{S_{3}} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\lambda_{7} = 4 \xrightarrow{S_{3}} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\lambda_{7} = 4 \xrightarrow{S_{3}} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\lambda_{7} = 4 \xrightarrow{S_{3}} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\lambda_{7} = 4 \xrightarrow{S_{3}} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\lambda_{7} = 4 \xrightarrow{S_{3}} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\lambda_{7} = 4 \xrightarrow{S_{3}} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\lambda_{7} = 4 \xrightarrow{S_{3}} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\lambda_{7} = 4 \xrightarrow{S_{3}} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\lambda_{7} = 4 \xrightarrow{S_{3}} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\lambda_{7} = 4 \xrightarrow{S_{3}} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\lambda_{7} = 4 \xrightarrow{S_{3}} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\lambda_{7} = 4 \xrightarrow{S_{3}} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\lambda_{7} = 4 \xrightarrow{S_{3}} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\lambda_{7} = 4 \xrightarrow{S_{3}} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\lambda_{7} = 4 \xrightarrow{S_{3}} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\lambda_{7} = 4 \xrightarrow{S_{3}} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\lambda_{7} = 4 \xrightarrow{S_{3}} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\lambda_{7} = 4 \xrightarrow{S_{3}} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\lambda_{7} = 4 \xrightarrow{S_{3}} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\lambda_{7} = 4 \xrightarrow{S_{3}} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\lambda_{7} = 4 \xrightarrow{S_{3}} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\lambda_{7} = 4 \xrightarrow{S_{3}} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\lambda_{7} = 4 \xrightarrow{S_{3}} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\lambda_{7} = 4 \xrightarrow{S_{3}} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\lambda_{7$$

A is a

Y×4

Wataix

Independent

Vectors

Vectors

(St, Uz, Sz, Ny

Inschled a

Inneanly independent set

STEP?

P=
$$\begin{pmatrix}
1 & -\frac{1}{3} \\
1 & 1
\end{pmatrix}$$
STEP3: Find diagonal matrix P'AP
$$\frac{1}{1+\frac{1}{3}} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & 1
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & 1
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & 1
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & 1
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & 1
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & 1
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & 1
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & 1
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & 1
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & 1
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & 1
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & 1
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & 1
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & 1
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & 1
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & 1
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & \frac{1}{3}
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & \frac{1}{3}
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & \frac{1}{3}
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & \frac{1}{3}
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & \frac{1}{3}
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & \frac{1}{3}
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & \frac{1}{3}
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & \frac{1}{3}
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & \frac{1}{3}
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & \frac{1}{3}
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & \frac{1}{3}
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & \frac{1}{3}
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & \frac{1}{3}
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & \frac{1}{3}
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & \frac{1}{3}
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & \frac{1}{3}
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & \frac{1}{3}
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & \frac{1}{3}
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & \frac{1}{3}
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & \frac{1}{3}
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & \frac{1}{3}
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & \frac{1}{3}
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & \frac{1}{3}
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & \frac{1}{3}
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & \frac{1}{3}
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & \frac{1}{3}
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & \frac{1}{3}
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & \frac{1}{3}
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & \frac{1}{3}
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & \frac{1}{3}
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & \frac{1}{3}
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & \frac{1}{3}
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & \frac{1}{3}
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}
1 & \frac{1}{3} \\
-1 & \frac{1}{3}
\end{pmatrix} = \frac{3}{4} \begin{pmatrix}$$

$$\frac{7}{4}AP = \frac{3}{4} \left(\frac{1}{1}\frac{1}{3}\right) \left(\frac{1}{1}\frac{1}{3}\right) \left(\frac{1}{1}\frac{1}{3}\right) \left(\frac{1}{1}\frac{1}{3}\right) \\
= \frac{3}{4} \left(\frac{1}{1}\frac{1}{3}\right) \left(\frac{2}{2}\frac{2}{3}\right) \\
= \frac{3}{4} \left(\frac{8}{3}\frac{3}{3}\right) \left(\frac{2}{2}\frac{2}{3}\frac{3}{3}\right) \\
= \frac{3}{4} \left(\frac{8}{3}\frac{3}{3}\right) = \frac{8}{4} \left(\frac{1}{0}\frac{6}{3}\right) \\
= 2 \left(\frac{1}{0}\frac{3}{3}\right) = \left(\frac{2}{0}\frac{6}{3}\right)$$

Ex: [Netrix oran - dragonalizable]
$$A = \begin{bmatrix} 1 & 2 & 7 \\ 1 & 0 & 2 \\ 0 & 0 & -1 \end{bmatrix} \quad \begin{cases} 2 & 1 \\ 1 & 0 \\ 0 & 0 \end{cases} = \begin{bmatrix} 1 & 1 \\ 1 & 0 \\ 0 & 0 \end{cases}$$

$$A = \begin{bmatrix} 1 & 2 & 7 \\ 1 & 0 & 2 \\ 0 & 0 & 1 \end{cases} = \begin{bmatrix} -t \\ t \\ 0 & 0 \\ 0 & 0 \end{cases}$$

$$A = \begin{bmatrix} 1 & 2 & 7 \\ 1 & 0 & 2 \\ 0 & 0 & 1 \end{bmatrix} = \begin{bmatrix} -t \\ t \\ 0 & 0 \\ 0 & 0 \end{bmatrix}$$

$$EX = \begin{cases} A & \text{eigenbalow} \\ A = \begin{pmatrix} A & A \\ S - A \end{pmatrix} \Rightarrow \begin{cases} A & \text{eigenbalow} \\ A & \text{eigenbalow} \end{cases}$$

$$A = \begin{pmatrix} A & A \\ S - A \end{pmatrix} \begin{pmatrix} A & A \\ S - A \end{pmatrix} \begin{pmatrix} A & A \\ S - A \end{pmatrix} = \begin{pmatrix} A & A \\ S - A \end{pmatrix} \begin{pmatrix} A & A \\ S - A \end{pmatrix} = \begin{pmatrix} A & A \\ S - A \end{pmatrix} \begin{pmatrix} A & A \\ S - A \end{pmatrix} \begin{pmatrix} A & A \\ S - A \end{pmatrix} = \begin{pmatrix} A & A \\ S - A \end{pmatrix} \begin{pmatrix} A & A \\ S - A \end{pmatrix} \begin{pmatrix} A & A \\ S - A \end{pmatrix} \begin{pmatrix} A & A \\ S - A \end{pmatrix} = \begin{pmatrix} A & A \\ S - A \end{pmatrix} \begin{pmatrix} A & A \\ A \end{pmatrix} \begin{pmatrix} A & A \\ A \end{pmatrix} \begin{pmatrix} A & A \\ A \end{pmatrix} \begin{pmatrix} A &$$